
Navn: 　　　　　　　 Dato: 　　　　　　 Score: 　　　

Negative eksponenter

(−8) =2 (−9) =0

(−4) =2 (−10) =0

6 =2 5 =2

(−10) =0 7 =2

(−9) =2 (−9) =(−1)

(−4) =2 6 =(−2)

(−9) = (−3) =(−2)

(−10) =(−1) (−6) =(−3)

9 =(−2) 6 =(−1)

7 =2 5 =(−2)

www.snowmath.com

https://www.snowmath.com


Navn: 　　　　　　　 Dato: 　　　　　　 Score: 　　　

Negative eksponenter

(−8) = 642 (−9) = 10

(−4) = 162 (−10) = 10

6 = 362 5 = 252

(−10) = 10 7 = 492

(−9) = 812 (−9) = (− )(−1)

9
1

(−4) = 162 6 =(−2)

36
1

(−9) = (−9) (−3) =(−2)

9
1

(−10) = (− )(−1)

10
1

(−6) = (− )(−3)

216
1

9 =(−2)

81
1

6 =(−1)

6
1

7 = 492 5 =(−2)

25
1
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